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apSHen @ 1) SpD DY HTH HERERRK, ARWoW 1,2,3 Sur 4 0 H8YH SERERD HFHLDBOm @
BEDORD RDEIP S, LS FRALBL. HB DOFTDH HERERHENDHLD 1 Btk
2) HB B, HERERSHVGD 1/4 S35 2SO HRBLY HOS SLADRED).

3) DR SERREIO SR> TR

1) To awes Jrlogge e:agén ................
The product of two negative integers is ........ccceveennnn
1) e JeEKony; Negative Integer  2) &S a’gjﬂgﬁoa}g Positive Integer
3) ©35da%H dogyg; Rational Number 4) None of these; DbsetH

2) 1000 S 2. cnennssnsens ;1000 meters =

1) 1km. 2) 1cm. 3) 1 mm.  4) 10 km.

3) (840arl8Ne K0y TP DOPG.eeervrrrrrrresss

The number of elements of a triangle are

1) 2 2) 3 3) 4 4)6
4) oSO BB ...cveriirirennen, O ©EB0T SPDJL.

Set of Integers are denoted by .....c.ccvveeeee.
1) N 2) W 3) Z 4) Q

5) o8 BOEE° (58 5B warand +4 frtnen, S s -3 Srten. a8 dogd
6 (SEHen SBPIDMD 4 (HHen S (TS B BP0 Sotnee IY?
In an exam +4 marks are awarded for every correct answer, —3 marks

are awarded for every incorrect answer. If a student write 6 questions
correct and 4 questions incorrect, then his total score is......c.........

1) 10 2) 14 3) 12 4) 24

6) 17901B4AD viuvivniivinins grAothdy; 1790184 is divisible by................

1) 2 2) 3 3) 6 4) 253y All the above@
)




7)

8)

9)

10)

11)

12) (808 TQE° BX508 KOPS +oevvreereaeasens :

1) 2235 2) 3456 3) 6375 4) 1221
13) (-4)+(-5)a(-5)-(-4)
1y > 2) < 3) =  4) None of these; d&setH
3 5
14) D_E:E
8 18 ) -8
27 2) 51 3) 27 4) 57
21 @

‘a’ el SJrEdogy oD a+0 DeNB..cvininarnnnnns
[f ‘a’ is an integer then the value of a+0 is................

1) 0 2) a 3) 1 4) AsDoHaE; Not defined

-i- S° ©F, O BB cuenerrrerrnnnns
5
The difference of numerator and denominator in - I ——
1 2 2) 12 3) -2 4) -12
2.8 B 100 SEeS grreen DS a8 gRHo BBPOTEPB0. e

If an object is divided in to 100 equal pieces then decimal form of one
PIBCE 15:.cocxenserusavnnis

1) 0.1 2) 0.001 3) 0.01 4) 1.0

a’g;vgéoaaémés Hoease8o E‘Sg%}g HOOBD FBO <vveervriinnenns
............ property is not satisfied by Integers with respect to multiplication

1) ?gééoéci; Commutative 2) n"noaﬂe)é; Closure
3) $5es8; Associative 4) D65%5%; Inverse

4
ot4) @egessﬁaaxa £%29,% 3HS° i S grifo Homrth. HADS B griKo........

i
In a Birthday Party Ravi distributes g "of a cake.

Remaining part of cake is........... ;
3 2 1
1) 5 2) 5 3) 1 4) 5

Which of the following is polyndrome number.




15)

16)

17)

18)

19)

20)

21)

N

N
I i ] w 3 wt
2,8 Hotrsedd 4; Qo Hod widvo. B o"Jg 2—1 5 EQo Dok o

H0£5°08 BoEIr HOVI Dol JosE?
The recipe requires 4% cups of flour. Rama has 2% cups of flour.

How many more cups of flour does she need?

9 9 3 1
1) 2— 2) 1— 3) 4— § 5=
) 10 ) ]IG ) 10 2 5
180° %008 360°0 5i5Ke S8 cvvvrerrnnne.
The angle between 180° and 360" is called ................. angle.

1) ©%; obtuse 2) @o); acute 3) $STE; straight 4) Ho°DHB; reflexive

1 5008 100 $8% Ko ESe (HTS L0850 SO rvvvrerrnren.
Number of twin primes between 1 to 100 is.................

1) 6 2) 7 3) 8 4) 9

4

28 é.:rf;gogén wdots® — ariNo QoHH D 2l Kotred® Do grifo
9 2

QodRedn?

Atank is filled % part in half an hour. How much will it be filled in 2% hours?

3 2 ] 4
1) 15 2) 2= 35 4) 35
2.3 @
— X=X = T rereerreeranreens
7 10 8
3 24 24 24
V70 2) 70 % 56 ) 540
2.8 Soggd K)égﬁonﬂ grhoD &t ST E NS TR S ©OLTE).
The number which divides the given number exactly is called .......... of

the given number

1) se8esro8sw; factor 2) 8.a0.19; L.C.M. 3) &.2=.g7; G.C.D. 4) ©80; Product

‘m % [ SErodBorr a)B' S PoSBE ErH0S® (FEDIT ...vveereeens

The symbolic form of ‘m is parallel to  is..................

1) m//l 2) I1m 3) I~m 4/=m @
_:“




-
22)

23)

24)

25)

26)

27)

28)

=
D 2 DBD0S® 3 Hovy trbo SESKD, 8D 25 et SE&DS
&30 Jos?

Meghana walked 3 meters in 2 seconds. How much distance will she
walk in 25 minutes.

1) 1800 mts. 2) 2100 mts. 3) 2250 mts. 4) 2400 mts.

OHESDN0 FnE) QYBPOED.vvervenreene
Reciprocal of Improper fractions is..................

1) (B §Xo; Proper Fraction 2) oHED dHo; Improper Fraction
3) ol PHo; Mixed Fraction 4) d8*50; Inverse

6.746° 7 G SRS IR : The place value of 7 in 6.74 is.............
1) 745 2) == 3) o5 M7

2.8 JreposeR) & G503 Fhomreol & o @) BN @ FPOSRY....or.
If we want to devide an integer by a fraction, then we have to ....................
the reciprocal of the fraction by the integer.

1) &reed; Add 2) 82Jc®; Subtract 3) rHBomrd; Multiply 4)grhomed; Divided

3i~:~7-1- o

5 4
4 76 145 19
UE e 9= 4 <
Q;E‘é Dende é%écﬁﬁ HE o0& AEHJHB aws Eod ngi Dend
creeriesnee. 06D SPEYN DEIDEHOE.

In the place values table, if we go right to left the place value increases

1) 100 2) 1 3) 10 4) 7116

]
2.8 2%y) 98 8.5v. o (HOSrBoSEr8 35 oD e, ?{gtﬁﬁoé‘
2:53) oEo &80 (BB ©b 1 Kobs® (HASrBod Erdo..............
A bus covers a distance of 98 km. in 3l hours. If the bus is travelling

at the same speed through out the journey. The distance covered by
it in 1 hour is................

1) 35 km. 2) 28 km. 3) 49km.  4) 53 km. @




29)

30)

31)

32)

33)

34)

35)

3.44+1.22+1.44+0.05 = ................

1) 6.10 2) 6.15 3) 5.10 4) 5.15
- LI .

5 5

10 3 22 3
1) — 2) = 3) == 4) =
) 5 ) 15 ) 5 ) 10

2.8 (B 3505h8 Gnk) TED 4.5 0.8, el HEREed 58.5 0.2
oD © erSuEHRs® Ko §HerB)?

A side of a regular polygon is 4.5 cm. in length. The perimeter of the
polygon is 58.5 cm. Then the number of sides in the polygon is...........

1) 12 2) 10 3) 13 4) 11

(58, $8206°Q Seren Y Sodre
‘ \ /-’ The names of the angles in the
following diagram are respectively

1) o, ®h%, wow; Acute, Obtuse, Right  2) wow, @88, oe); Right, Obtuse, Acute
3) @88, vo), ©vow; Obtuse, Acute, Right  4) d&std; None of these;

18 Bole $Hard ooEn D) ©Ed (HhE S 4 BEy eokH,
00N @S (DiNE HODDY .oeereernnnnnnn donen,

After 18 years age of Rajesh is 4 times his present age. His present age
IS eeeuinennnn. . YEATS

1y 5 2) 6 3) 4 4) 7

Tenth SBS FrgSogge Twdo 170 wowd & Sopges® 8O E Dogg......

Sum of'the four consecutive integers is 170. Which is the biggest number
among them.

1) 41 2) 42 3) 44 4) 48
50 Bdo 3505w, (HES® 3D %) ©HBO ....vvveennen.

In the quantity of 50 kg. of Iron and Cotton. Which is more weight.
1) =:08w; Iron 2) (58; Cotton

3) Bor H5eH0; Both are Equal 4) HbsetsH; None of these @
)

..“




41) Boh Eeren 2 XmrIEED rdsren $HB DEPaPe BoS & Emen... ...

42)

43)

a A\
36) 576x10x375%0=..................
1) 7638 2) 2160000 3) 0 4) 576375
37) % ($5%), $606° X 80 Dens..........
e What is the value of angle x in the adjacent figue
1) 85° 2) 170° 3) 20° 4) 10°
38) 2.8 ¥ se8eroo Ke BB eveene
The number which has only one factor is....................
1) oS Sogg Prime Number 2) Hocho¥ Rogg; Composite Number
3) 1 &c» 2; Either 1 or2 4) 1 =otH HHBciw 2 s¢%; Neither 1 nor 2
39) (8492206°Q Kueedo %50 IWHEO .o
Sum of the three angles of a triangle is...................
1) 90° 2) 180° 3) 270° 4) 360°
40) (Bobd 8 DB eBire EHos® Seikh?

Which of the following is in ascending order.

1) 8.080, 8.800, 8.880, 8.008 2) 8.008, 8.080, 8.880, 8.800
3) 8.008, 8.080, 8.800, 8.880 4) 8.880, 8.800, 8.080, 8.008

If two angles are equal and complementory then the two angles are.....

1) 909 90° 2) 45° 45° 3) 40° 40° 4) 180° 180°
2014 &% Ko %6 EARNISIEE IS éospé ................
Number of even prime numbers below 2014 is................
1 2) 2 3) 5 4) 13
A

< —
4 ﬁ 4 ©5%5008° I/ /BC 0w [B Do .............
In the adjacent figure if ///BC then /B=..........

)

2
1) 90° 2) 80° 3) 100°  4) 45° @




